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Deal with one of the three following subjects:

First subject:
There is nothing in habits but advantages.

1- Explain this opinion and state the problematic it raises. (9 pts)
2- Discuss this opinion in the light of other points of view that condemn habits. (7 pts)
3- In your opinion, can we get rid of bad habits? (4 pts)

Second subject:
History can not pretend reaching the status of science, because its object is not the
general facts but the particular events.

1- Explain this judgment and state the problematic it raises. (9 pts)
2- Discuss this judgment by showing that there are methods of study

capable of giving history a clear and scientific characteristic. (7 pts)
3- In your opinion, what is it that distinguishes historical causality

from the causality of the experimental sciences? (4 pts)

Third subject: Text

"Labour is a commodity sold by its owner, the wage earner, to the capital. Why
does he sell it? To survive. But labour is also the worker's own vital activity, and the
personal expression of his life; he sells his vital activity to another man to ensure for
himself the necessary means for existence, since his vital activity is nothing but the
only means of subsistance. He works to live, however, he doesn't consider work itself
as a part of his life, but rather as sacrificing this life. Labour is a commodity sold by
the worker to someone else. That is why the product of his activity is not an aim for
this activity [...] What the worker produces for himself is the wage... Here is a
worker who weaves, knits, drills, runs a lathe, builds, digs, and cuts stones or bricks,
for twelve hours. But does he consider the twelve hours spent in knitting, weaving,
drilling, running a lathe or using a spade or a hammer as an expression of his
existence, and does he see in such acts what is essential to his life? No, on the
contrary, life for him starts when this activity ends, when he sits at a table, be in a
coffee shop, or in bed."

Karl Marx
1- Explain this text and state the problematic it raises. (9 pts)
2- Discuss the above opinion of Marx by showing that work has,
nowadays, many advantages, in spite of its disadvantages. (7 pts)

3- What is, in your opinion, the ideal solution capable of resolving
the problem of the relationship between work and property? (4 pts)
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